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a2 2019 2018 H|n a2 2019 2018 H|

Ofl AkQk Ofl Ak s Ofl AkQk Ofl Ak s
A 8,682,000 10,250,000 —1,568,000 A 8,682,000 10,250,000 —1,568,000
AbRt 49 8,682,000/ 10,250,000 —1,568,000|ZHC+t2H 2l 22| 2,195,000 2,195,000 0
610 Y42 5,969,000 7,540,000, —1,571,000 HY2FAH 2,195,000 2,195,000 0
616 CHEH ALY 42 5,347,000 6,847,000 —1,500,000|CH =X 2H 2tE=H Y 2,000,000 2,000,000 0
617 7IEfE L+ 161,000 185,000 —24,000 o 72 A 25 2t H)| 2,000,000 2,000,000 0
618 Eaj < 461,000 508,000 —47,000| =30l = &ls ¥ 3H 2F 3,847,000 5,347,000 —1,500,000
620 ¥¢l el 49 2,713,000 2,710,000 3,000 23513 |4 1,365,100 2,591,590 —1,226,490
622 rh =249 18,000 15,000 3,000 I 24X 1 Z i 213,000 241,000 —28,000
623 2x =49 500,000 500,000 0 AFch X 482,000 1,088,210 -606,210
625 EXtEA S+ 2,195,000 2,195,000 0 SAHX A e 1,509,900 1,126,200 383,700
A=d s 0 0 0 QH IR A HEURY 277,000 300,000 —23,000
170 AHE Y 2+ 0 0 olge® xj2ae 640,000 708,000 —68,000
172 0|43 0 0 0 off H| H 640,000 708,000 —68,000
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A EHH Ol Of 2B a5t A 8.682,000]  10,250,000] —1.568.000
Al 42l 8,682,000  10,250,000] 1,568,000
610 I 52 5,969,000  7,540,000] —1,571.000
616 CH 3 AFR] 42 5,347,000  6,847,000] —1,500,000
61603 9 EtAF 42 5,347,000  6,847,000] —1,500,000
A ARSIE S (2alols A8 U 2H2Y) 3,847,000 5,347,000 —1,500,000
T A AP QIENS (T2 2 25 H) 1,500,000 1,500,000 0
617 7| EFI I 42 161,000 185,000 —24,000
61702 7| EFAFB 249 51,000 100,000 —49,000
TR ABE 50,000 98,000 —48,000
= 2t Arﬁﬁ 1,000 2,000 —1,000
61706 7IEFI 49 110,000 85,000 25,000
EEE ¢ t2 110,000 85,000 25,000
618 ﬂmHAO' 461,000 508,000 —47,000
61801 A EHOf 52 11,000 8,000 3,000
e 7,000 4,000 3,000
EERC R 4,000 4,000 0
61802 7| EFEHOf 42 450,000 500,000 —50,000
[azz4 450,000 500,000 —50,000
620 Fgfel 4o 2,713,000] 2,710,000 3,000
622 elcf 240 18,000 15,000 3,000
62201 @4l 18,000 15,000 3,000
[Z M4 o) 2 (5HE) 18,000 15,000 3,000
603 B I 0] 500,000 500,000 0
62301 2HFEZ5 500,000 500,000 0
EEE 500,000 500,000 0
625 EXEA 24 2,195,000 2,195,000 0
62502 A XAl SXHE2 2,195,000] 2,195,000 0
[ 7Al 2612 (2H) 2,195,000 2,195,000 0
A== 42l 0 0 0
170 A2 o=+ 0 0 0
1720122 0 0 0
17203 U = 0| 2 A | 0 0 0
[=E =02 AtetH| (2018H ) 0 0 0
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K CHHOI O 7 Q| 2t 6t A 8,682,000 10,250,000 —1,568,000
o2y 4l 2t 2,195,000 2,195,000 0
Sd=2gZH| 2,195,000 2,195,000 0
013 2YH| 1,504,424 1,504,424 0
100 QI Z4H| 1,504,424 1,504,424 0
101 294 963,327 942,327 21,000
102 M5 418,143 418,143 0
105 7| MM 22X 24 0 21,000 —21,000
106 E| &2 122,954 122,954 0
7| =4H| 611,076 611,076 0
200 ZAH| 586,076 601,076 —15,000
201 52| F 41| 182,616 155,036 27,580
202 OfH| 24,000 50,080 —-26,080
203 5322 Y AA 14,580 16,580 —2,000
204 =2 EH| 235,200 235,200 0
206 &2 FEH| 15,170 36,170 —21,000
208 T A Q4 H| 3,700 3,540 160
209 A2 xt= 14,540 13,700 840
211 xR X[H| 6,000 6,000 0
212 288 3,100 1,600 1,500
213 X248 33,700 29,700 4,000
214 JF FFlH| 17,340 17,340 0
215 2M A 2 H| 11,730 11,730 0
216 g =& H| 6,000 6,000 0
220 3|9l 2YH| 18,400 18,400 0
400 AHEXE 25,000 10,000 15,000
|405—1 KHAE SH| 25,000 10,000 15,000
= 79,500 79,500 0
713 H1t= 79,500 79,500 0
|713—1 pSpniy= 79,500 79,500 0
A=A H SN 2 2,000,000 2,000,000 0
=M et 29 2,000,000 2,000,000 0
0l 2 H| 9,000 0 9,000
100 Q1 74H| 9,000 0 9,000
|105 It 22X}t B4 9,000 0 9,000
HetEH 29 1,991,000 2,000,000 —9,000
200 ZAH| 751,000 843,000 —92,000
202 OfH| 10,000 85,000 —75,000
205 2 EH| 10,000 0 10,000
206 &2 EH| 0 17,000 —17,000
207 I SH| 4,000 3,500 500
208 T A QI4H| 0 4,000 —4,000
209 X Z2AAE 0 50,000 —50,000
212 28 &8 5,000 4,000 1,000
213 X248 16,000 16,000 0
214 JF FFlH| 6,000 30,000 —24,000
217 X 2H| 7| E} 0 430,000 —430,000
218 S ALS HH| 696,000 200,000 496,000
220 3|9l 2YH| 4,000 3,500 500
300 AHNO|H™ 1,240,000 1,157,000 83,000
|301 B2 1,240,000 1,157,000 83,000
Z3t0& 25 Y 39 29 3,847,000 5,347,000 —1,500,000
=339 |4 1,365,100 2,591,590 —1,226,490
2 2t X & 387,800 1,200,000 —812,200
200 ZAH| 129,312 700,000 —570,688
202 OfH| 0 32,500 —32,500
203 532= % AA 0 5,500 —5,500
205 28H| 3,000 0 3,000
206 A2 EH| 0 24,000 —24,000
208 T A Q4 H| 0 8,000 —8,000
209 X Z2AE 0 60,000 —60,000
212 282 1,800 4,000 —2,200
213 X248 1,500 8,000 —6,500
214 JF FFlH| 1,000 18,000 —17,000
217 X 2H| 7| E} 0 540,000 —540,000
218 S ALS HH| 122,012 0 122,012
300 A 40| & 258,488 500,000 —241,512
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301 BaE 258,488 500,000 —241,512
sAEME 15 183,000 200,000 —17,000
200 ZH| 53,000 60,000 —7,000
202 OfH| 37,000 5,000 32,000
205 2k 8,000 0 8,000
206 42 ZH| 0 4,000 —4,000
208 T M QI4fH] 0 1,300 —1,300
209 X| 22l xt2 0 12,000 —12,000
BPEEE] 1,200 1,000 200
213 X242 0 1,500 —1,500
214 A2 E | 2,500 5,100 —2,600
217 X 24| 7|Ef 0 29,000 —29,000
218 SHALE 2H| 4,300 0 4,300
220 39| 2 H| 0 1,100 —1,100
300 ZAO[F 130,000 140,000 —10,000
[301 242 130,000 140,000 -10,000
ZMELY 29 382,000 420,000 —38,000
200 ZH| 38,000 71,500 —33,500
202 0fH] 0 1,800 —1,800
203 2223 U AN 0 1,800 —1,800
206 £ 2 ZH| 0 12,200 —12,200
208 = A2l H| 0 2,000 —2,000
209 X| 2 A2 0 24,000 —24,000
212 28l = 1,000 3,100 —2,100
213 X244 2 1,000 0 1,000
214 A2 E 7| 1,000 10,600 —9,600
217 X 2H| 7| Et 0 16,000 —16,000
218 HALE 2H| 35,000 0 35,000
300 ZAO[F 344,000 348,500 —4,500
[301 242 344,000 348,500 —4,500
Aolurz g x|el 328,300 502,590 —174,290
200 ZH| (FHYOIE|AE 2H 2HER) 94,671 227,890 —133,219
202 01 H] 0 82,400 —82,400
206 42 ZH| 0 14,000 —14,000
208 T M QI4fH] 0 1,600 —1,600
209 X| 22 xt2 0 15,600 ~15,600
212 B8 B 1,877 3,000 —1,123
213 X242 1,500 3,000 —1,500
214 A2 E | 1,000 16,600 —15,600
217 X 24| 7|Ef 0 89,690 —89,690
218 HALE 2H| 89,094 0 89,094
220 39| 2 H| 1,200 2,000 —800
200 ZH| (25 2t™ 2712F4) 0 0 0
202 ofH| 0 0 0
214 A2 E | 0 0 0
218 HALE 2H| 0 0 0
220 3|2/ 2| 0 0 0
300 ZA0|H (FRFOLE| A E 2B 2HEH) 233,629 274,700 —41,071
[301 2a42 233,629 274,700 —41,071
300 40| H (2 2HE 2 I1284) 0 0 0
[301 2otz 0 0 0
RHAELR 2Y 84,000 69,000 15,000
200 ZH| 10,000 13,800 —3,800
206 42 ZH| 0 1,000 —1,000
213 X2+ &8 0 900 -900
214 A2 E 7| 1,200 2,200 —1,000
218 HALE 2H| 7,800 8,950 —1,150
220 39| 2 H| 1,000 750 250
300 ZAO[F 74,000 55,200 18,800
[301 242 74,000 55,200 18,800
Zlslnot g0 0 200,000 —200,000
200 ZH| 0 200,000 —200,000
218 SHALE 2 H| 0 193,000 —193,000
220 39| 2 H| 0 7,000 —7,000
2| 2hA &ty 213,000 241,000 —28,000
2 & 2 2t & & 60,000 60,000 0
200 ZH| 3,360 4,000 —640
214 A2 E | 160 1,000 -840
218 SALE 2 H| 3,200 2,000 1,200
220 39| 2 H| 0 1,000 —1,000
300 ZAO[F 56,640 56,000 640
[301 242 56,640 56,000 640
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S5}5|Al T2 E 30,000 0 30,000
200 ZH| 3,000 0 3,000
[218 Atz 21| 3,000 0 3,000
300 ZA0[H 27,000 0 27,000
[301 22 27,000 0 27,000
2Ht AT 6,000 0 6,000
200 ZH| 5,000 0 5,000
208 T A2l H| 0 0 0
214 Y2 FEH| 0 0 0
220 3|2/ 2| 5,000 0 5,000
300 ZAO[F 1,000 0 1,000
[301 212 1,000 0 1,000
AHOpzb= Zol 2 0 30,000 —30,000
200 ZH| 0 11,500 —11,500
203 2223 2 AA 0 300 —300
208 = A0l H 0 300 —300
209 X| 2 A2 0 6,400 —6,400
212 2EE 0 500 —500
214 Y2 FEH| 0 2,400 —2,400
218 HALE 2| 0 1,600 —1,600
300 ZAO[F 0 18,500 —18,500
[301 212 0 18,500 —18,500
ofntEof | 2 FI A 10,000 15,000 —5,000
200 ZH| 2,340 9,730 —7,390
206 4 2 ZH| 0 3,950 —3,950
209 X ZYAE 0 440 —440
214 Y2 FEH| 100 1,440 —1,340
217 X 2H|7|E} 0 500 —500
218 MALZ 2H| 2,240 1,000 1,240
220 3|2/ 2| 0 2,400 —2,400
300 ZAO[F 7.660 5,270 2,390
[301 212 7,660 5,270 2,390
2HtD S 2F 107,000 136,000 —29,000
200 ZH| 3,580 14,310 ~10,730
206 4 2 ZH| 0 2,000 —2,000
208 = A2l H| 0 2,900 —2,900
212 28l 100 200 -100
213 X244 2 0 1,200 —1,200
214 Y2 FEH| 1,200 5,150 —3,050
218 HALE 2| 2,280 2,860 —580
300 ZAO[F 103,420 121,690 —18,270
[301 242 103,420 121,690 ~18,270
AZcHH X8l 482,000 1,088,210 —606.,210
oA AER} 29 279,840 631,390 —351,550
300 ZAO[F 279,840 631,390 —351,550
[301 242 279,840 631,390 —351,550
BHACH 29 202,160 456,820 —254,660
300 ZA0[H 202,160 456,820 —254,660
[301 2a42 202,160 456,820 —254,660
TZox g pa 1,509,900 1,126,200 383,700
R 167,300 181,500 —14,200
100 Q171 H| 139,700 145,000 —5,300
[105 712tH 22 24 139,700 145,000 —5,300
200 ZH| 26,000 22,540 3,460
206 A2 ZH| 7,000 6,500 500
207 Il =H] 4,800 4,800 0
210 $M G x| 11,000 8,000 3,000
216 WS E2H| 3,200 3,240 —40
400 RH2X| & 1,600 13,960 —12,360
[405—1 xtatzISH| 1,600 13,960 ~12,360
Zoly =le 1S 104,000 80,000 24,000
200 ZH| 101,000 80,000 21,000
202 OfH| 0 2,100 —2,100
203 B2 4 A 0 7,900 —7,900
208 TA{QlafH| 16,000 26,000 ~10,000
213 X244 2 7,800 0 7,800
214 Y2 FEH| 3,500 0 3,500
218 HALE 2| 58,200 14,000 44,200
220 312/ 2| 1,000 0 1,000
221 o1 77j 2| 14,500 30,000 ~15,500
300 ZAO[F 3,000 0 3,000
[301 212 3,000 0 3,000
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SHT A FX 9 2t 814,700 834,700 —20,000

200 ZAH]| 771,700 834,700 —63,000

210 =M 7 X[H| 267,000 315,000 —48,000

212 282 18,000 18,000 0

213 Ngs+a 445,700 460,700 —15,000

216 W =&H| 0 2,000 —2,000

217 X =H| 7| E} 41,000 39,000 2,000

400 AHEX & 43,000 0 43,000

|405—1 AHAHE| S HI 43,000 0 43,000

S A = 2| 423,900 30,000 393,900

200 AH]| 319,800 30,000 289,800

205 2 EH| 7,000 7,000

209 A2 xt= 50,000 30,000 20,000

212 282 400 400

218 S ALS HH| 262,400 262,400

300 ZAA0| & 104,100 0 104,100

|301 243 104,100 0 104,100

QH 25t A HARY 277,000 300,000 —23,000

Ha AIHFX 9 2e| 207,000 208,000 —1,000

200 ZAH| 195,000 208,000 —13,000

206 &2 EH| 5,660 6,000 —340

209 X Z2AAE 150,740 140,040 10,700

210 =M 7 X[H| 12,000 31,960 —19,960

213 X248 26,600 30,000 —3,400

400 AHEXE 12,000 0 12,000

|405—1 KHAE SH| 12,000 0 12,000

28 29 70,000 92,000 —22,000

100 Q1 Z1H| 39,000 32,000 7,000

104 2I|AUZZX E5 32,000 22,000 10,000

105 7| MM 22X 24 7,000 10,000 —3,000

200 AH]| 31,000 60,000 —29,000

|213 N 31,000 60,000 —29,000

288 HFee 640,000 708,000 —68,000

Of H] H| 640,000 708,000 —68,000

Of 1| H| 640,000 708,000 —68,000

810 Ofl H[H| 640,000 708,000 —68,000

|810—01 Off 1| H| 640,000 708,000 —68,000
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